
 
 

 
INSTALLATION FOR 

CONSOLE LEGS 
 

 
 
 
 
 
 

n350 DeWitt Avenue, Brookly , NY 11207, USA 
Tel: 718.257.2800 rmark-designs.com Fax: 718.257.2144 Info@wate

www.watermark-designs.com 



CAUTION: EDGES MAY BE SHARP 
 

NUM E 
 

BER DISCREPTION IMAG

1 FRONT SUPPORT 

2 LEFT SIDE SUPPORT 

 

3 RIGHT SIDE SUPPORT 

 

4 WALL FLANGE 

 

5 TOP BASE 

 

UP 
PRE
CO

SSURE  
NNECTION 

FRONT 

FRONT 

BACK 

BACK 



6 BOTTOM LEG 

 

7 BOTTOM BASE 

 

8 WALL ESC 

 

9 TOWEL POST 
ASSEMBLY 

 

10 TOWEL BAR 

 

11 ROBE HOOK 
ASSEMBLY 

 

FINISHED SURFACE 

SET SCREW

SET SCREW



12 ALLEN KEY 

 

13 TOGGLE 

 

14 DRY EW WALL SCR

 

15 
 10-24 SCREW 

 
 

16 FR T 
ASSEMBLY 
ONT BRACKE

 

17 WALL BRACKET 

 

18 SHELF 

 
 



Installation Steps 
 

1. Take nt support (1) and place so that the part indicated by the arrow 
points upward. 

 
2. If you have a towel bar or robe hook, do step A of the according accessories 

steps first. 
 
3. Take left side support (2 ction (shown in 

ort (2) (the small cylinder inside the tube with the flat end). Use a 

 
(4) from the back of left side support (2). 

e support. Make 
igned with the threaded hole of the 

ge 

ncil to mark the holes of both wall flanges (4). 

 the provided drywall screws (14) 

 

at the finish 
surface faces toward the front support (1). 

 fro  it down 

) and insert it into the pressure conne
figure 1); make sure that the larger edge on the front of the left side support (2) 
is on the outside. Place the wall flange (4) inside the other end of the long tube 
of left side supp
small hammer and gently hit the wall flange (4) until the left side support 
completely emerges into compression connector of the front support. Remove
wall flange 

 
4. Repeat step 2 for the right side support (3); make sure that the larger edge on 

the front of the right side support (3) faces outward. 
 
5. Take the top bases (5) and insert them into the four tubes extending upwards. 
 
6. Place the assembly on a flat surface on the top bases (5) (upside down). 
 
7. Take the bottom leg (6) and insert it into one of the long tubes. 

 
ote: DO step A from Glass or Wood shelf first. N

 
. T8 ake the bottom base (7) and insert it in to the leg that you just assembled. 

 
.  9 Repeat step 7 and 8 for the other bottom leg (6) and bottom base (7). 

 
10.  Take the wall flange (4) and insert it into the back end of the sid

sure that the hole on the side of the tube is al
wall flange (4). 

 
1.1  Take the 10-24 screw (15) and screw it in the threaded holes of the wall flan

(4). 
 
12. Repeat steps 10 and 11 for the other side. 
 
13. Flip the console upright and lean it against the wall that you want to place the 

vanity. Use a pe
 
14. Unscrew the 10-24 screws (15) and remove the wall flanges (4). 
 
15. Mount the wall flanges (4) on the wall using

and toggles (13). 
 
Note: If you have a towel bar, follow accessories installation steps C and D before

oing to step 16. g
  

61 . Take the wall esc (8) and insert it into the back end. Make sure th



 
17. Place the assembled console into the wall flanges (4) and use the 10-24 screws 

(15) to fasten the console. 

(8) toward the wall to cover the wall flanges (4). 

the bottom and for the 
TRADITIONAL series is at the top) so that it is level.  

r the Glass or Wood Shelf. 
 

 

 
18. Push wall esc 
 
19. Adjust the height of the console by screwing or unscrewing the adjuster base 

(for LOFT and TRANSITIONAL series is at 

 
20. Follow steps B, C, and D fo

Accessories Installation Steps 
 
Tow l bar 

or right side support from 
the front. Make sure that the set screw is at the bottom of the console. 

 
b. Follow steps 3 through 1

 
c. Insert t port from the 

back. Make sure that the set screw is at the bottom of the console. 

 

 

t the above steps for as many robe hooks as you have. 

b. Place the front shelf brackets assembly (16) at the high that you want and tie the 
and straight. 

 
s (17) at the wall across from the front brackets. Make sure 

that the end of the wall bracket (17) does not extend out from the shelf. Mark the 
d 

 
d. Slide the shelf (18) into the brackets and tie all the set screws. 

e
a. Insert one of the towel post assemblies (9) onto the left 

5. 

he other towel post assembly (9) into the left or right side sup

 
d. Insert the towel bar (10) into the holes of the two towel post assemblies (9) make 

sure that is horizontal and tie the set screws using Allen key (12). 

Robe Hook 
 

a. Insert robe hook assembly (11) into the left or right side support from the front. 
Make sure that the set screw is at the bottom of the console. 

b. Make sure the robe hook assembly (11) is horizontal and positioned at the 
position you want. Tie the set screw using Allen key (12). 

 
c. Repea

 
Glass or Wood Shelf 

 
a. Insert the front shelf bracket assembly (16) on to the front legs. Make sure that 

the set screws for the glass or wood are facing downward.  
 

set screws at the side. Make sure the two brackets are aligned 

c. Place wall bracket

holes and fastened them into the wall using the provided drywall screws (14) an
toggles (13). 


